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Ogt=2H| 600
0.1200| st SHEES AT 50,000& =123 600
on=dl 800
0.1200 | stH&EY= 100, 000& *4Q1%23] 800
O=&l 1,120
0.1200|1 st HRF& 7,000& 20180 1,120
02 2323l 600 600 0
OZZ23 Y HA 600
0.12001=stf SHEMERZ 50,000& 123 600
202 O 2,400 2,400 0
01 =AY 2,400 2,400 0
Ol IsigRFa 100,000& »20! %122 2,400
12023 sSAg2s X 19,600 17,900 1,700
201 EHRHH| 3,300 3,300 0
01 AtR 22/t 3,300 3,300 0
Ogt==2H| 3,300
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OJIetE ¢ ME+ 100, 000& *123] 1,200
O120=2sAE2d , 20|25+
100, 000& *123] 1,200
OXt2=snEsHE 10,000& 105 +202! 2,000
O120XH3 S At500A12HI S TH M & 500,000& 500
A EAM E HH2E 9,600 10,260 A660
201 et 800 1,000 A 200
01 AtS22lHl 800 1,000 A200
Oget=gH| 800
0.2 KNJASALAH ZAHH M
100, 000& 501 500
0.2 SAMES =2 HH 50, 000& =60H 300
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OT0XAZARE S4TI9 28t
50,000& * 509! 2,500
sElessx 2 22 472,980 443,540 29,440
201 Let2d| 155,540 149,540 6,000
02 =234l 165,540 149,540 6,000
0Z223 2 HAl 155,540
0.JI128 &JIEs 9,500,000& » 12& 114,000
07125 oM 492 sEEY
190,000& * 2000H 2 38,000
00125 HFAALI(2HE)
36,000 * 400H A& 1,440
0.7I12E SHFAAHI(OIRSZ)
6,002 * 35074 4 2,100
207 AN 20,000 0 20,000
02 AN Y| 20,000 0 20,000
ONZSOBABAL (RS TR )
20,000, 000& 20,000
401 A EHIL 204 297,440 294,000 3,440
01 Al&tt] 296,000 292,027 3,973
OJt2s RX2el =&81 20,0008 * 1,000 20,000
OAIDHR Jt284X 4,000,000& = 10S 40,000
OADIX JH2S =224 DA
4,000,000& *20S 80,000
Os&EJtzs & & 1,200,000& * 50= 60,000
Os&itgs o4 600,000& * 30 18,000
Os&JI2S =524 7
1,200,000& * 408 48,000
ONZED/BPZUUEHSEANL DA
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SAFAIH| A D 6,400 5,600 800
OXAZA ST EA LA 80,0002 +807 S H| 6,400
SAHZ S SHRIR (RCIUI0IE) 36,471 33,471 3,000
= 15,235
= 7,618
= 13,618
01244 36,471 33,471 3,000
= 15,235
= 7,618
= 13,618
04 JIRAM2ERSE S 36,471 33,471 3,000
OXZARCIUO0IE &S (2Y) 3,000
0.2SACIYIO0IEH 141,4102x128 1,697
0.0/BRCIHI0IE 108,530% x 128 1,303
ORSACIUIOIE 404 282 3,000,0002 3,000
OXZSARCIUIOIEAY 2,539,250 +128) 30,471
= 15,235
= 7,618
T 7,618
AE SR 1,680 18,200 16,520
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01 At22telt| 1,080 10,200 £9,120
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02 BB 600 600 0
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0I240I 22,000 22,000 0
= 11,000
= 11,000
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06 283 6,400 4,000 2,400
ONEEA BHEN 6,400,000%! 6,400
= 3,200
= 960
= 2,240
N8 =X Y oy, 22X =FANSA 889,020 179,472 709,548
= 441,966
= 59,984
= 105,448
= 281,602
HAIQlEs Al o) 28,000 19,488 8,512
= 14,000
= 14,000
pNE=PL=p ESE-E L 28,000 19,488 8,512
= 14,000
= 14,000
301 YptBAZ 28,000 19,488 8,512
= 14,000
= 14,000
12 JIEtR A2 28,000 19,488 8,512
OXHAAR HEBA(102)
28,000, 00084 28,000
= 14,000
= 14,000
ZZ2ZAY 861,020 159,984 701,036
= 427,966
= 59,984
= 105,448
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= 59,984
< 29,000
= 177,016
01 Al&tt] 266,000 159,984 106,016
OZZ22 A1 (258)) 266,000,002 266,000
= 59,984
= 29,000
= 177,016
30|12 CIEN=2S 139,020 0 139,020
= 69,510
= 27,804
= 41,706
101 el 24| 130,900 0 130,900
= 65,450
= 26,180
= 39,270
04 JIZHMIZE2XNSE =+ 130,900 0 130,900
O33712 #HFEAH(178) 130,900,000 130,900
= 65,450
= 26,180
= 39,270
201 LEt=EH| 5,100 0 5,100
= 2,550
S 1,020
= 1,530
01 AtS22/Hl 5,100 0 5,100
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150,000& x17Q1x2& 5,100
= 2,550
= 1,020
= 1,530
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= 1,000
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= 600
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= 534,550
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F=HEO 1,143,329 1,671,319 A527,990
= 994,663
= 124,333
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